

3
 a, b -
 $ax^2 + bx - c$ (0,1).
 7

:

$x = 1$ $a + b -$ $x = 0$ -
 (0,1) 1 , 2 0,
 ,

$$x_{1,2} = \frac{-b \pm \sqrt{b^2 + 4ac}}{2a}$$

$ax^2 + bx - c = 0,$,

$$\frac{-b + \sqrt{b^2 + 4ac}}{2a} < 1,$$

a, b, c

$a + b > c,$

4

x, y, z :

$$x + y + z - 2(xy + yz + xz) + 4xyz = \frac{1}{2}$$

, $\frac{1}{2}$.

7

:

, :

$$x + y + z - 2(xy + yz + xz) + 4xyz - \frac{1}{2} = \frac{1}{2}(2x - 1)(2y - 1)(2z - 1)$$

, x, y, z $\frac{1}{2}$.

5

, $x^4 + ax^3 + 2x^2 + bx + 1 = 0$,
 $a^2 + b^2 < 8.$,

7

:

, $a^2 + b^2 < 8.$ -
 $|ax^3 + bx| \leq \sqrt{a^2 + b^2} \sqrt{x^6 + x^2} < 2\sqrt{2} |x| \sqrt{x^4 + 1}$

$$x^4 + ax^3 + 2x^2 + bx + 1 > x^4 + 1 - 2\sqrt{2} |x| \sqrt{x^4 + 1} + 2x^2 = (\sqrt{x^4 + 1} - 2|x|)^2 \geq 0$$